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1 Motivation
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0002000 Q:=V(zw—yz) CP>0O0

(a,0) e ClIQ =20 o 7ZL. (' =V (x,2), L=V (x,y)).

CCcQ:9(C)=2
— C O divisor type= (3, 2)or(2,3)
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general 0 (3,2)divisor 0 smooth curve.
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Q=V(zw—yz) C P
fg:20000.

(=V(z,y) CS:=V(xf+yg); 3000 CP?



3 Answer to Q.1

Theorem A.

generald 20000 f,gOOOO
J:={zw—yz,xf+yg,zf +wg) 000 200 50000000000.
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4  Answer to Q.2

f = Ax? + By? + Cw?
g = Dz? + Bw? + 2Fwx
T:={B?*-FE?+BC+AB+AC+AD+BD=0}CcP;O00O0O.



Theorem C.

N el LS

Vt=(A:B:C:D:E)eT, m t)=Proj(klz,y, z,w]/(J(t)))
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dU C T :open s.t. U —» A5 : 0 0.

J(t) == (zw — yz,xf + yg, 2f + wg).
(f = Az? + By? + Cw?, g = D2? + Bw? + 2Ewx.)
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Proposition 1.

CCQ:(3,2)divisor,2000 m : C — P!
m O fincte OO0 O OO0 60000000000 < C:smooth curve
000 dO0ooooooooooooa.
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Q3C:(3,2)0D:(2,3)0 QUODO0DOOOOO

ve. 75,7 CQ x S,m: 2 — S s.t.

1. S :connected

2. m :flat surjective
3. dJx,y€ Sy s.t. () =CnYy)=D



6 Answer to Q.3

Hilbert 00O OOOCOOOOMN

Proposition 2. V[C] € (%?_‘_3)k;
C':(3,2) or (2,3)divisor.

Theorem C. c%’g?% = Wi UWsy s.t.

1. W1, Wy :connected, rational
2. V|C|] € (W1)g,C : (3,2)divisor
3. VD] € (W), D : (2,3)divisor



